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Answer either in English or in Assamese.

1. Answer the following questions : - 1x5=5
woTe fial emicaies Ty ot ¢ |
() Idenﬁfy the paramagnetic molecule—
g Sl Be T—
i) Hp
(@ N
(iii) O,
(iv) Fp
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’(b)

lee the IUPAC name of the followlng

, compound— E

| ﬁ'CﬁT@ IO IUPACW%I‘*IT—-— ‘

@

[Ca (edta)]”

. What are free radlcals ?

: fww e

. (d)

Which of the followmg 1s an 1nexact -
- differential ? - .

WWWW?
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(i) dH-

@w) dG .
* Afrange the following acids. in order of
'thelr decreasmg acidity. '

| wre i SETE GO ZPN T AR |

- COOH COOH COOH

- w—ﬁmﬁmﬂ?ﬁr m@mm

S 2. Ahswer ‘any Jive of fthe- following tmestiorié:

. 2x5=10

' (a) State Bents rule and explam it wlth :
the help of sultable example

=i T -
" (b) Draw the resonanee strucmreé of 002
" molecule ‘What is resonance energy ?

» coz W‘Iﬁﬁmmﬁﬁﬁ@lm.

_ (c) Give one example each of intra and
inter-molecular hydrogen bonding,

Wwﬁﬁmmwm’mm
GERIIE BRREet ffnm |

(d) G1ve one exar_nple each of ambidentate

ligand and chelating ligand.
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How carb_anionS are formed ? Explain
why CH; is moré stable than

CH,—CH;.

| PRGATARR @A NN R 2 CH,— CH; ©F
 cH; ot i for T

State and explam the Zeroth law of

~ thermodynamics.

SiolsfOREERR XN TR "‘@WW,

Al -

For isothermal reversible éxpansion of
one mole of an ideal gas, show that—

p
w ='—RTln?f, where p, <p,
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No

)

. gas ? What is-the work done for such

0

__ Pr -
w = RTln p ) Where pf <p'_

- What is hybndlzatlon and geomet.ry of

carbocation ?
PREOE B T T SRS o
What is meant by free expansion of a

expansion ?
<1 (o1 Y@ eiedt IR R gl T el
R m"w Eaieuls

Explam why maleic acid is more acidic
than fumaric acid.

frenfe abves @ ab wis it
o g
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3. . Answer any four of the following questionis :

5x4=20

Tﬁmﬁmmwﬁﬁrmwm

(a) Explam What is’ hybrldlzatlon and

~ justify. its necessity. Explain - the’

»' geometry of BeF molecule- by
- hybndlza'uon - ' |

mﬁﬁsmwwmmﬁaw

- WWIW\W«W&FQW{@W B

~'wﬁf>ww.

'(b)'lee the molecular electronic

. cOnﬁguration of O, molecule. Draw the

MO energy Jevel diagram of the o))
.molecule Calculate bond order of the
molecule and explain its magnetic

property. , 142+2=5
0, o R T Rt 1 0 S
MO “frwas g Sl | SR ARG T
T 0 RN pERR o g
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i fe) Explam the formation of true wave '

. function of Hp molecule by LCAO MO
theory

" LCAO-MO azm@ H2 wggw@asw\ﬁw'
ﬂ‘maﬁW|

‘(d) Explam the postulates of Werners

coordlnatlon theory W1th sultable
example. o
@WW«WQWWWW
WI .

- (é) | “Addmon of tnplet carbene to alkene is

- not a stereospec1f1c reaction while
- addition of singlet carbene to alkene is
.. a stereospecific reacuon” Explain why.

mm@ww ot R
WW@WW%MW RANTE
ﬁmﬁﬂ GRerr=ibR v | R g w0

H What is pKg? Calculate the pKa value
of an acid having K, =2 % 1072, Explain
- how substituents at ortho, meta and
~ para positions of benzoic acid influences
the acid strength of benzo1c acid.
l+1+3 5
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PK, B2 @Bl 953 K, = 2'x 10221 pK,, T

%W B ortho, meta WIF para SRS

AT @R afbor SriveR R
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What is thermodynamlc process ? With

the help of suitable example explain

. cyclic, reversible and irreversible

processes. _ 1+4=5

Wﬂmﬁ%m%?@ﬂww«w—m
RIS W RIS eifEmmt it 31|

What is entropy of a system ? Give its
molecular interpretation. How the

- direction of spontaneity of a process
can be explained from entropy change ?.

State the entropy sta:cement of ‘the
second law of thermodynamics.
1+14+2+1=5

ER e T Wl gl Ft | R
AfReET R @A BN ForgEoR Py
RCE 22 OshfoRwme Bl e
A5 ReaR el far)
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(@) -

(b)

(c)

BO2FN 0011

- Answer any one of the following questions :

10x1=10

Discuss with sultable example about
" the weak chemical forces.

@WWwWWWW

Ao ¥

With -the help of suitable example
discuss about the stereochemistry of
coordination compounds having
coordination numbers 4, 5 and 6.

Bolge Srigaeis RS 4, s'memﬁvma
CoRE TRl mw«w @@NW

TG F9 1

.With the help of suitable example

explain the mechanisms of Sy, Sy and

free radical .substitution reactions.
Explain what are aq-elimination and
B-elimination reactions. 2x3+4=10
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State Klrchhoff's equatlon Explaln

how Kn‘chhoft’s equation may be -
used- to calculate AH value of a

reactlon from heat capacity data.

o 1+5=6
ﬁsmﬁaﬁcf%amww\omw

ﬁ%m«ma AHS W B AT
Wasﬁmﬁwasﬁaonﬁw
WI '

heyat Of the reaction

N, (g)+3H (g9) = 2NHj (g) at

SOOK was found to be 91.97 kJ

What will be the heat of- reaction
at 323K? The molar heat

. ‘capacities at constant pressure

for nitrogen, hydrogen and
ammonia gases are 286, 28:33

~and 37.08jKmol~! respectively.

4

.10

SOOK_

N,(g)+3H,(9) = 2NH, (g)

: ﬁmm 3ica Ritetelsl oI zﬂ@r
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1 91.97 kJ1 323K TR Ridmrens Rl -

737 f3F oS AREEN, WEEH GE

@il i TR SRl T
286, 2833 W% 37.08 jK-Lmol1|
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